
Grade 11 Review
1.  Given 
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, the range is:
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2.  For the periodic function shown on the right, the amplitude is:

	a.  1
	b.  2
	c.  4
	d.  6


  3. For the periodic function shown on the right, the period is:

	a.  4
	b.  5
	c.  6
	d.  8


4.  Given 
[image: image6.wmf]D

ABC has 
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, b = 15cm  and  a =12cm, how many triangles would you have?
	a.  none  
	b.  one obtuse triangle            
	c.  one right triangle              
	d.  two


5.  The range of 
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6.  Evaluate:   
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7.  The graph of 
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 is reflected along the x-axis.  The defining equation of the new graph is:
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8.  The restriction(s) for 
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9.  A point on the graph of 
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10.  One solution to the equation 
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11.  The fourth term in the sequence defined by 
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	a.  – 108    
	b.  – 54 
	c.  – 18   
	d.  162


12.   The equation of the given trigonometric function as a cosine function is
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13.  The exact value of 
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14.  Which of the following relations is NOT a function? 

	a.  
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15.  
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16.  Given the sequence 
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	a.  arithmetic
	b.  geometric
	c.  recursive 
	d.  none of these


17.  The equations of the asymptotes for the function 
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18.  The general formula for the 
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th term for the following sequence 9, 27, 81,  …  is:
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19.  If 
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20.  The graph of 
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 is horizontally translated 3 units to the right.  

       The equation of the translated graph is

	a.  
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21.  The common difference for the arithmetic sequence 
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	a.  1 
	b.  
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22.  Given 
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	a.  – 238 
	b.  – 4
	c.  238
	d.  22


23  Given that 
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24. Given the graph of 
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, sketch the graph of its inverse.
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25.  Simplify.

	a)  
[image: image93.wmf]4

8

16

x
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26.  Sketch one period of the graph of 
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 or a table of values.

27.  Simplify the following rational expression.  
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28.  Nadia invests $1250 in a savings account that pays 6.5%/a, compounded semi-annually.  She does not make another deposit, and plans to leave the money in this investment for 3.5 years.  How much is her investment worth after 3.5 years?
29. Billy will make $250 deposits into his account every three months (quarterly).  His account earns interest at 4% per year, compounded quarterly.  How much money will he have at the end of 5 years?
30.  Find the sum of the series    
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31. Simplify:  
[image: image99.wmf]3

2

8

125

÷

ø

ö

ç

è

æ

-











32. A Ferris wheel has a diameter of 32 m and its centre is 18 m above the ground.  The wheel completes one revolution in 60 seconds.  A passenger begins the ride at the lowest position on the Ferris wheel.  a) Sketch one complete cycle of this sinusoidal function which models the passenger’s height (h in metres) above the ground versus time (t in seconds).  b) State the equation as a sine function.

33.  Iodine-131 has a half-life of 8 days. If a hospital receives a shipment of 3200 mg of Iodine-131.    


Note: “131” denotes the type of Iodine, it is not a mass or a time value



	a)  How much Iodine-131 would remain after 72 days?  Show your work
	b) How long would it take for this sample to have 100 mg remaining?   Show your work


34. Sketch the exponential function   
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Formula Sheet

Quadratic formula:
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Trigonometry:
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	Fundamental Trigonometric Identities

	Reciprocal Identities
	Quotient Identities
	Pythagorean Identities
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Finance:
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Sequences and Series:
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State:





y-intercept  ________





equation of the asymptote _______





domain               __________________





range                  __________________
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